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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Sem-II Remedial Examination September 2009 

Subject code:320043 
Subject Name: Financial Accounting – I 

 
Date:   18 / 09 / 2009                    Time:  03:00pm- 05:30pm 

Total Marks: 70 

Instructions: 
1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version Authentic 

 
Q.1  The cash Book of Shri Jayant paid showed credit balance of Rs. 7900 

on  31-12-04, on  this date, prepare the Bank Reconciliation statement 
and find out balance as per pass-book. 

14 

  1. A cheques of Rs. 1500 issue to Mahesh is not yet detsited in 
the pass book. 

2. A crossed cheque of Rs. 200 received from Kishore, which is 
recorded in cash book but it was not deposited in the bank. 

3. Bank has paid Rs. 1000, Insurance premium on our behalf, 
but the same is not recorded in the cash book. 

4. Keyur had directly deposited Rs. 3000 in our bank account 
which has not been informed to us. 

5.  Out of the cheques or Rs. 7500 issued cheque of Rs. 2500 is 
presented in January, 2004. 

6.  Cheques of Rs. 12,000 have been sent for collection to the 
bank, out of which cheques or Rs. 3500 were credited in 
January, 2004. 

7. Bank has charged interest on over-draft Rs. 600 and Bank 
Charges Rs. 200, which are not recorded in the Cash-Book. 

 

Q.2 (a) On 1-1-2000 Jalaram Printing Press purchased a printings 
Machine from HCL Ltd., with following conditions :  

07 

  1. Cash price of the machine was Rs. 78,000. 
2. On the date of agreement Rs. 18,000 were paid in cash. 
3. the remaining amount is payable in three annual 

instalments which includes 10% interest p.a. 
  31-12-2000  Rs. 26,000 
  31-12-2001  Rs. 24,000 
  31-12-2002  Rs. 22,000 
4. Jalaram Press provides 10% depreciation per annum 

through diminishing balance method :- 
 Prepare : (1)  Machinery Account 
   (2) Interest Suspense Account 
   (3) Interest Account 
   (4) HCL Ltd., Account 
 In the books of Jalaram Printing Press under Installment 

Purchase system.  

 

 (b) Explain the meaning of Lease Transactions and its advantages. 07 
  OR  
 (b) Explain types of Lease Transactions 07 
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Q.3  Anad Patel sold goods worth Rs. 50,000 at 10% trade discount to 
Vinod Patel on 1-1-2002. 
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  Vinod Patel paid cash Rs. 5000 and accepted a bill for 
thebalanceamount, for 3 months period, drawn by Anand Patel. 

On 4-2-2002 Anand Patel discounted the said bill at 15% discount 
p.a. with the bank. 

On the due date the bill was dishonored and Anand Patel paid noting 
changes Rs.200. 

On due date of new bill, Vinod declared bankrupt and only 50 paise 
in a rupee was received as final dividend.  

Pass Journal Entries in the books of Anand Patel for above 
transactions.  

 

  OR  
Q.3 (a) Explain :- General commission and Del cadre commission.  07 

 (b) Distinguish between Hire purchase and Installment system.   07 
    

Q.4  From the following information, prepare Surat Branch A/c. in the 
books of H.O. for the year ending on 31st December 2005 
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  Balance on 
                                                             1-1-2005          31-12-2005 
                                                                  Rs.          Rs. 

Branch Stock               30,000   40,000 
Branch Debtors                    30,000   67,000 
Branch Petty Cash                1,000        - 
Furniture               30,000        - 
Goods sent to branch              1,50,000 
Petty cash remitted to branch                  3,000 
Cash sales               1,15,000 
Credit Sales                1,70,000 
Branch                     3,500 
Cash received from Debtors             1,20,000 
Goods returned by Debtors                            10,000 
Discount allowed to Debtors                             2,000 
Bad debts written off.                   1,000 
Goods returned by branch                15,000 
Branch Expenses : 
Salary            Rs. 20,000 
Rent % Taxes          Rs. 15,000 
Other Expenses               Rs.   5,000            40,000 

15% annual depredation is to be assumed for furniture   

 

  OR  
Q. 4 (a) Distinguish between Dependent Branch and Independent Branch 07 

 (b) Explain :- Bill of Exchange 07 
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Q.5  On 1-1-2004 Rajesh consigned 100 Table Fans each of Rs. 500 to 
Bhavesh on consignment and paid Rs. 2,000 carrriage and freight. 
Rajesh drew a bill of Rs. 25,000 which was accepted by Bhavesh. 
This bill was discounted by Rajesh by giving Rs. 500 as discount. 
Bhavesh paid selling expenses Rs. 1,200. Bhavesh sold 70 Fans @ 
Rs. 500 each on cash and 10 fans @ Rs. 900 each on credit. 
Bhavesh is to be paid 10% commission and 5% del-creder 
Commission for sales. Prepare consignment A/c. and Bhavesh A/c 
in the book of Rajesh on 31-3-2004 

14 

  OR  
Q.5  On 1-6-2003 Manoj sold goods of Rs. 20,000 at 10% Trade 

Discount to Mahesh and drew a bill of four months for the due 
amount. The bill was accepted and returned by Mahesh on the 
same date. Manoj discounted the said bill on 4-7-2003 at 10% 
Discount in the bank. On the maturity date Mahesh dishonored the 
bill and Manoj paid full amount to the bank along with noting 
charges Rs. 200. 

14 

 
5|5|5|5| \\ \\`Gv!`Gv!`Gv!`Gv!        íkk. 31-1h-04Lkk hkus ©e sÞtík ÃkttrzíkLkku hkufz{u¤ Yk. 7900 Lke s{k çkkfe Ëþkoðíkku níkku. 

çkUf rMk÷f {u¤ çkíkkðe ©e sÞtík ÃktrzíkLke ÃkkMkçkwf {wsçkLke çkkfe þkuÄku.   

14 

        (1) ©e {nuþLku ykÃku÷ku Yk. 1Ãk00 Lkku [uf nS çkUfu ÃkkMkçkwf{kt WÄkÞkuo LkÚke. 

(h) Yk.h,000Lkku ¢kuMz [uf rfþkuh ÃkkMkuÚke {éÞku su hkufz{u¤{kt LkkUÄkÞku Au Ãkhtíkw [uf 

çkUf ¾kíkk ¼hðkLkku hne økÞku Au. 

(3) çkUf rð{k r«{eÞ{Lkk Yk.1,000 ykÃkýkðíke [qfÔÞk Au suLke LkkUÄ hkufz{u¤{kt ÚkE 

LkÚke. 

(4) fuÞwhu ykÃkýk çkUf¾kíkk{kt MkeÄk Yk. 3,000 s{k fhkÔÞk níkkt, suLke òý ykÃkýLku 

fhe LkÚke. 

(Ãk) Yk.7,Ãk00 Lkk [uf ykÃÞk níkkt su{ktÚke Yk.h,Ãk00 Lkk [uf òLÞwykhe, h004{kt 

çkUf{kt hsq fhðk{kt ykÔÞk níkkt. 

(6) Yk. 1h,000Lkk [uf çkUf{kt ðMkq÷kík {kxu ¼hðk{kt ykÔÞk níkkt, su{ktÚke 

Yk.3,Ãk00 Lkk [uf òLÞwykhe h004 {kt s{k ÚkÞk níkkt. 
(7) çkUf ykuðhzÙVxLkk ÔÞksLkk Yk.600 yLku çkUf [kSoMkLkk Yk. h00 ÃkkMkçkwf{kt WÄkhu÷k Au    

              suLke LkkUÄ hkufz{u¤{kt ÚkE LkÚke.  

 

5|5|5|5| \\ \\`GvZ`GvZ`GvZ`GvZ          
    VVVV    íkk. 1-1-h000 Lkk hkus s÷khk{ r«Lxªøk «uMku yu[.Mke.yu÷.r÷. ÃkkMkuÚke yuf r«Lxªøk Þtºk 

Lke[uLke þhíkkuyu ¾heË fÞwO. 
07 

        (1) ÞtºkLke hkufz rft{ík Yk.78,000 níke. 

(h) fhkhLke íkkhe¾u íkqhík [qfðýe Yk.18,000 

(3) 10% ðkŠ»kf ÔÞks MkrníkLkk ºký nókyku{kt çkkfeLke hf{ Lke[u «{kýu [qfððkLke Au  

  31-1h-h000  Yk. h6,000 

  31-1h-h001  Yk. h4,000 

  31-1h-h00h  Yk. hh,000 

(4) s÷khk{ r«Lxªøk «uMk Þtºk WÃkh ðkŠ»kf 10% ÷u¾u ½xíke síke çkkfeLke heíku ½Mkkhku  

             økýu Au.  

(1) Þtºk ¾kíkwt  (h) ÔÞks WÃk÷f ¾kíkwt 

(3) ÔÞks ¾kíkwt  (4)  yu[.Mke.yu÷.rð.Lkwt ¾kíkwt 

        s÷khk{ r«Lxªøk «uMkLkk [kuÃkzu, nók ¾heË ÃkæÄríknuX¤ íkiÞkh fhku. 
    

 

    AAAA    ¼kzkÃkèk ÔÞðnkhLkk (÷eÍLkk) yÚko Mk{òðe íkuLkk VkÞËkyku ðýoðku. 07 
        VYJFVYJFVYJFVYJF  
    AAAA    ¼kzkÃkèk ÔÞðnkhLkk (÷eÍLkk) «fkhku Mk{òðku. 07 
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5|`Gv#5|`Gv#5|`Gv#5|`Gv#        íkk.1-1-h00h Lkk hkus ykLktË Ãkxu÷ Yk. Ãk0,000 Lkku {k÷ 10 ðuÃkkhe ðxkðu rðLkkuË 

Ãkxu÷Lku ðuåÞku. 

rðLkkuË Ãkxu÷u Yk.Ãk,000 hkufzk [qfðe çkkfeLke hf{ {kxu 3 {kMk {wËíkLke ykLktË Ãkxu÷ ÷¾u÷e 

nqze Mðefkhe    

íkk.4-h-h00h Lkk ykLktË Ãkxu÷ yk nqze çkUf{kt 1Ãk% Lkk Ëhu ðxkðe. 

Ãkkfíke íkkhe¾u yk nqtze LkfhkE, ykLktË Ãkxu÷ Lkfhk{ýe ¾[oLkk Yk.h00 [qfÔÞk. 

íkk.10-4-h00h Lkk hkus rðLkkuË Ãkxu÷ hkufzk Yk.h0,h00 [qfÔÞk yLku çkkfeLke hf{ {kxu 

Yk.400 ÔÞks MkrníkLke çku {kMkLke {wËíkLke Lkðe nqtze Mðefkhe. 

Lkðe nqtzeLke Ãkkfíke íkkhe¾u rðLkkuË LkkËkh ònuh sÞku yLku íkuLke r{÷fík{ktÚke Yk. 1 Mkk{u 

0.Ãk0 ÃkiMkk ytrík{ rzrðzLz {éÞwt. 

ykLktË Ãkxu÷Lkk [kuÃkzu WÃkhLkk ÔÞðnkhkuLke yk{LkkUÄ ÷¾ku. 
 

14 

        VYJFVYJFVYJFVYJF     
5|`Gv#5|`Gv#5|`Gv#5|`Gv#          
    VVVV    Mk{òðku : MkkËe ykzík yLku ykMkk{e ykzík 07 
    AAAA    ¼kzu ¾heË ÃkæÄrík yLku nók ¾heË ÃkØrík ðå[uLkku íkVkðík 07 
          

5|`Gv$5|`Gv$5|`Gv$5|`Gv$        Lke[uLke rðøkíkku WÃkhÚke {ÏÞ ykurVMkLkk [kuÃkzu Mkwhík þk¾kLkwt ¾kíkwt íkiÞkh fhku, yLku íkk. 31{e 
rzMkuBçkh, h005 Lkk hkusLkku þk¾kLkku LkVku fu LkwfþkLk þkuÄku. 
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                                                           ç kkfeyku 

    íkk.1-1-h005         íkk.31-1h-h005 

         Yk.        Yk. 

þk¾kLkku Mxkuf  30,000  40,000 

þk¾kLkk ËuðkËkhku  30,000  67,000 

þk¾kLkk Ãkuxk – hkufz 1,000         - 

VŠLk[h   30,000        - 

þk¾kLku {kuf÷u÷ {k÷    1,Ãk0,000 

þk¾kLku {kuf÷u÷ Ãkuxk hkufz         3,000 

hkufz ðu[ký     1,15,500 

WÄkh ðu[ký     1,70,000 

þk¾kLkk Ãkuxk ¾[ko          3,500 

ËuðkËkhku ÃkkMkuÚke {¤u÷e hkufz    1,20,000 

ËuðkËhkuyu Ãkhík fhu÷ {k÷       10,000 

ËuðkËhkuLku ykÃku÷ku ðxkð         2,000 

{ktze ðk¤u÷ ½k÷¾kÄ         1,000 

þk¾kyu Ãkhík fhu÷ {k÷       15,000 

      þk¾kLkk ¾[ko : 

 Ãkøkkh  20,000 

 ¼kzwt yLku ðuhk 15,000 

 yLÞ ¾[ko 5,000     40,000 
þk¾kLkk VŠLk[h WÃkh 1Ãk% ÷u¾u ðkŠ»kf ½Mkkhku økýðkLkku Au. 

 

        VYJFVYJFVYJFVYJF     
5|`Gv$5|`Gv$5|`Gv$5|`Gv$    VVVV    Mðíktºk yLku Ãkhíktºk þk¾k ðå[uLkku íkVkðík Mk{òðku 07 
    AAAA    Mk{òðku : nwtze  07 
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5|`Gv55|`Gv55|`Gv55|`Gv5        íkk.1-1-h004 Lkk hkus hksuþu 100 xuçk÷ Ãkt¾k ËhufLke ®f{ík Yk.Ãk00 {wsçk ¼kðuþLku 

ykzíkÚke ðu[ðk {kufÕÞku yLku Yk.h,000 ¼kzk íkÚkk LkqhLkk [wfÔÞk. hksuþu Yk. hÃk,000 Lke 

nwtze ÷¾e su ¼kðuþu Mðefkhe. yk nwtze  hksuþu Ãk00 ðxkð ykÃke ðxkðe. ¼kðuþu Yk.1,h00 

ðu[ký ¾[oLkk [wfÔÞk. ¼kðuþu 70 Ãkt¾k Ëhuf Yk. 800 Lkk Ëhu hkufzuÚke ðuåÞk yLku 10 Ãkt¾k 

Ëhuf Yk. 900 Lkk ¼kðu ðuåÞk. ¼kðuþLku ðu[ký Ãkh 10% f{eþLk Ãk% zu÷ ¢uzh (ykMkk{e) 

f{eþLk ykÃkðkLkwt Au.  

hksuþ Lkk hkuÃkzu íkk.31-3-h004 Lkk hkus ykzík{k÷ ¾kíkwt yLku ¼kðuþLkwt ¾kíkwt íkiÞkh fhku. 

14 

        VYJFVYJFVYJFVYJF     
5|`Gv55|`Gv55|`Gv55|`Gv5        íkk.1-6-h003 Lkk hkus {Lkkusu Yk. h0,000 Lkku {k÷ 10% ðuÃkkhe ðxkðu {nuþLku ðuåÞku 

yLku íku s íkkhe¾u ÷uýe hf{Lke nwtze [kh {kMkLke {wËíkLke {nuþ WÃkh ÷¾e {kuf÷e su {nuþu 

MðefkheLku Ãkhík {kuf÷e ykÃke. íkk.4-7-h003 Lkk hkus {Lkkusu yu nwtze 10% ðxkðu çkUf{kt 

ðxkðe. 

Ãkkfíke íkkhe¾u {nuþu nwtze Lkfkhe yLku {Lkkusu çkUfLku nwtzeLke ÃkwhuÃkwhe hf{ íkÚkk Yk. h00 LkkUÄýe  

¾[o Mkrník çkUfLku [qfðe ykÃÞku 

{nuþ LkkËh ònuh ÚkÞku yLku íkuLke r{÷fík{ktÚke YrÃkÞk 0.Ãk0 ÃkiMkk «{kýu yttrík{ ðMkq÷kík Ãkuxu 
{éÞk WÃkhLkk ÔÞðnkhkuLke LkkUÄ {Lkkusu yLku {nuþLkk [kuÃkzu fhku. 
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********** 


